BPSC Sep 30, 2023 69th CCE Prelims Question Paper (Set A)

19—C/F1I/CC/PT-2023 Booklet Series

Candidate’s Roll Number

A

Question Booklet
GENERAL STUDIES

Serial No.

Time Allowed : 2 Hours Maximum Marks : 150

Read the following instructions carefully before you begin to answer the questions.

[

10.

11.

12.

13.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 150 questions in all.
. All questions carry equal marks.
. Immediately after commencement of the examination, you should check up your Question

Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 64 printed pages including two pages
(Page Nos. 62 and 63) for Rough Work and no page or question is missing or unprinted or
torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

. If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi

versions of the questions, the English version will be treated as standard.

You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Roll Number, Question Booklet Series and other particulars in the
space provided on Page-2 of the Answer Sheet provided, failing which your Answer Sheet
will not be evaluated.

You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page—2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

Questions and their responses are printed in English and Hindi versions in this Booklet. Each
question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct
responses marked by you in the Answer Sheet.

. In the Answer Sheet, there are four circles—®), ®), © and © against each question. To answer

the questions you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one circle for one question, the answer will be treated as wrong. Use
Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure or
change is not allowed.

For each question for which a wrong answer/more than one answer has been given by the
candidates, one-third of the marks assigned to that question will be deducted as penalty.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet to
the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be
kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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1. Which of the following 3. Match List-I with List-II :
technologies will be enabled by

the 5G mobile communication Lé?t_hl l(,-l)sz'f—.II
networks? (, oth) (Origin)
a. Linen 1. Coconut plant
1. Internet of Things b. Coir 2. Flax plant
2. Edge Computing c. Mohair 3. Feathers of duck
3. Network Slicing and geese
d. Down 4. Angora goat
Select the c.orrect answer using Select the correct answer using
the codes given below. .
the codes given below.
(A) Ol’lly 1 and 2 (A) a b c d
(B) Only 2 and 3 1 3 2 4
(C) Only 1 and 3 B) a b d
(D) 1, 2 and 3 4 3 2
(C) a b c d
2. Match List-I with List-II : 2 1 4 3
List—I List—II D) a b C d
(Space Mission) (Exploration) 4 1 3 2
a. Cassini- 1. Jupiter
Huygens 4. Consider the following state-
b. Juno 2. Saturn and its ments :
rings 1. Taeniasis is an intestinal
c. Artemis 3. Venus infecﬁtion caused by three
d. VERITAS 4. Human Space- species Of. tapeworm.—
i Taenia solium, Taenia
ight—Moon . .
saginata and Taenia
to Mars . .
aswatica
Select the correct answer using 2. When cysts develop in the

the codes given below. brain, the condition is

(A) a b c d referred to as neuro-
2 1 4 3 cysticercosis (NCC).

(B) a b c d Which of the above statements
3 1 4 2 is/are correct?

© a b ¢ d (A) Only 1
2 3 4 1 (B) Only 2

D) a b c d (C) Both 1 and 2
3 1 2 4 (D) None of the above
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5. Which of the following are

computer languages?

1. Cobra
2. Python
3. Squirrel
4. Java

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 3 and 4

(C) Only 1, 2 and 3

(D) All of the above

What is the full form of GPT

in ChatGPT, recently seen in
the news?

(A) Glutamic Pyruvic Trans-
aminase

(B) GUID Partition Table

(C) Grooved Pegboard Test

(D) Generative Pre-Trained
Transformer

19-C/FI/CC/PT-2023/201-A

7. Which of the following are not

the tastes of the tongue?
Sweet

Bitter

Salty

Spicy

Umami

Sour

N o ook wd

Pungent

Select the correct answer using
the codes given below.

(A) 2, 5and 7
B) 1, 3 and 4
(C) 4 and 7
(D) 3 and 6

Which of the following pairs are
correctly matched?

1. Anorexia : Sleep disorder

2. Insomnia : Eating
disorder

3. Dyspnoea : Shortness of
breath

4. Anosmia : Partial or full
loss of smell

Select the correct answer using
the codes given below.

(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 3 and 4
(D) All of the above
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9.

10.

11.

In the
pulsars?

universe, what are

(A) A group of stars

(B) Rotating neutron stars

(C) Explosion of a star

(D) Radio waves
a star

emitted by

In the context of lab-grown
diamonds (LGDs), what is used
as a diamond seed?

(A) White sapphire

(B) Moissanite

(C) Graphite

(D) Cubic zirconia (CZ)

What is the fibre’ used to make

bulletproof jackets?
(A) Nylon

(B) Terylene

(C) Tweed

(D) Kevlar

19-C/F1/CC/PT-2023/201-A

12. What

13.

is/are the full form(s)
of HMX?

1. High Melting Explosive

2. High-Density Monoatomic
Xenon

3. Hedge
currency

Monetizing Xeno-

4. Her Majesty’s Explosive

Select the correct answer using
the codes given below.

(A) 1 and 2
(B) 2 and 3
(C) Only 1

(D) 1 and 4

What is the name of Tesla’s
humanoid robot launched in
October 20227

(A) Sophia
(B) Atlas

(C) Pepper
(D) Optimus
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14. What is the ‘Manhattan Project™

15.

16.

(A) A research and development
undertaking that produced
the first nuclear weapons

(B) One of the largest art
auctions of the world

(C) A real estate project in
New York City

(D) A famous theme park

The image formed by concave
mirror is real, inverted and of
the same size as that of the
object. The position of the object
should be

(A) at the focus
(B) at the centre of curvature

(C) between the focus and
centre of curvature

(D) beyond the
curvature

centre  of

A photoelectric cell is a device
which

(A) converts light energy into
electric energy

(B) converts electric energy into
light energy

(C) stores light energy

(D) None of the above

19-C/F1/CC/PT-2023/201-A

17.

18.

The amount of solute present
per unit volume or per unit
mass of the solution/solvent is
known as __ in Chemistry.

(A) composition of solute

(B) concentration of solvent

(C) concentration of solute

(D) concentration of solution

How do COVID vaccines
stimulate an immune response?

(A) By introducing live
attenuated SARS-CoV-2
virus

(B) By introducing a real

SARS-CoV-2 virus

(C) By introducing a harmless
piece of SARS-CoV-2 virus

(D) By introducing antibodies
against SARS-CoV-2 virus
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19. Which of the following liquids is

20.

21.

a bad conductor of electricity?
(A) Salted water

(B) Orange juice

(C) Lemon juice

(D) None of the above

The DNA double helix structure
was discovered by

(A) James Watson and Francis
Crick

(B) Rosalind  Franklin and
Maurice Wilkins

(C) Linus Pauling
(D) Gregor Mendel
Two objects of different masses

falling freely near the surface of
the Moon would

(A) have different accelerations

(B) undergo a change in their
inertia

(C) have same velocity at any
instant

(D) experience forces of same
magnitude

19-C/F1/CC/PT-2023/201-A

22. How do vector vaccines work to

23.

provide immunity?

(A) By introducing a weakened
or inactivated virus into
the body

(B) By directly attacking and
destroying pathogens in
the body

(C) By placing the virus in a
modified version of a
different virus

(D) By entering directly into the
cells and enabling them to
create spike proteins

The process that continually
adds new crust is

(A) subduction

(B) earthquake

(C) seafloor spreading

(D) convection

24. The theory that states “pieces of

the Earth’s crust are in
constant, slow motion driven by
movement in the mantle” is
called

(A) the theory of continental
drift

(B) the theory of Pangaea
(C) the theory of plate tectonics

(D) the theory of
boundaries

plate
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25. What is the expanded form of

26.

27.

the term ‘mRNA’ that has been
widely discussed since the
beginning of the pandemic?

(A) Messenger Ribonucleic Acid

(B) Mutant Ribonucleic Acid

(C) Modified Ribonucleic Acid

(D) Mnemonic Ribonucleic Acid

An AC current can be produced
by

(A) choke coil

(B) dynamo

(C) transformer

(D) None of the above

Current density is

(A) a scalar quantity

(B) a vector quantity

(C) dimensionless

(D) None of the above

19-C/F1/CC/PT-2023/201-A

28.

29.

30.

What is the basis of most
useful classification of medica-
tions in medical chemistry?

(A) Pharmacological effect

(B) Molecular targets

(C) Chemical structure

(D) None of the above

Which of the following slows

down the reaction rate?

(A) Catalytic promoter

(B) Homogeneous catalyst

(C) Heterogeneous catalyst

(D) None of the above

Input and output nerves meet at

(A) liver

(B) central nervous system

(C) heart

(D) None of the above
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31.

32.

33.

In the context of ‘Shipwreck
Tourism’, shipwrecks in Indian
waters have been explored at
Sunchi Reef, Amee Shoals and
Grande Island. Where are these
locations?

(A) Off the coast of Goa

(B) Off the coast of
Lakshadweep

(C) Off the coast of Tamil Nadu
(D) Off the coast of Odisha

The G20 members represent

1. around 85% of the global

GDP

2. about 50% of the global
trade

3. about two-thirds of the

world population

Which of the above statistics
is/are correct?

(A) Only 1

(B) Only 1 and 3
(C) 1, 2 and 3
(D) Only 1 and 2

Who is the Head of Russia’s
Wagner Mercenary Group?

(A) Sergei Shoigu

(B) Yevgeny Prigozhin

(C) Aleksandr Lukashenko
(D) Volodymyr Zelenskyy

19-C/FI/CC/PT-2023/201-A

34. The Global Gender Gap Report

is released by
(A) the World Bank
(B) the UN Women

(C) the World Economic Forum

(D) the UNDP
35. Which one of the following
statements regarding Queen
Elizabeth 1II of the United
Kingdom is correct?
(A) She reigned for 70 years
and died at the age of
96 years.
(B) She reigned for 68 years
and died at the age of
94 years.
(C) She reigned for 72 years
and died at the age of
92 years.
(D) She reigned for 66 years
and died at the age of
90 years.
36. What was the theme of DefExpo-
2022, held in Gujarat?
(A) India : The Emerging
Defence Manufacturing Hub
(B) Path to Pride
(C) Synergy for Defence
(D) Aatmanirbharta
g S0 LR R TR T
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37. The three-day celebration 39. ‘Net Metering’ is sometimes seen

of Thadingyut Festival is in the news in the context of
celebrated in which country? promoting
(A) Chile (A) the installation of CNG kits

in motorcars

(B) Nepal (B) the installation of water

(C) Germany meters in urban households

(C) a billing mechanism for
solar energy by consumers
for the electricity they add

(D) Myanmar

. ) to the grid
38. Consider the following
statements regarding the (D) the use of piped natural
‘White House’ : gas in the kitchens of
households

1. The address of the White

House is 1800 Pennsylvania 40. Match List-1 with List-I :

Avenue.
List—I List—II
2. It is the official residence (Colour) (Combination)
and. Workfplace of the a. Magenta 1. Green and blue
President of USA. b. Teal 2. Red and blue
3. On November 1. 1800 c. Mauve 3. Blue, green and
John Adams became the white
first President to take d. Cyan 4. Blue, red and
residence in the building. white
4. It is a symbol of American Select the c.orrect answer using
Democracy. the codes given below.
Which of the above statements (A) a b c d
are correct? 2 3 4 1
B) a b c d
(A) 1, 3 and 4 2 4 3 1
(B) Only 2 and 3 (C) a b c d
4 2 1 3
(C) Only 3 and 4
D) a b c d
(D) 2, 3 and 4 3 4 2 1
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TG 1 3T

-1 =l GH-11 ¥ gufea HifT
gA-1 -1
(Tm) ()
a. BSie 1. B0 3R e
b. I 2. @ AR e
c. Hig 3. e, 70 3R whg
d. femm 4, e, a1 3R
Tha

F= fer T Fe W oW W S W
Tl

(A) a

(on
O

B) a

on
@]

(C) a

o
o

(on
(@]

(D) a
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41. What is the name of the deep- 43. Where did the former President

sea submersible that imploded of the USA give his interview
during an underwater voyage to recently?
the Titanic wreckage?
A) R
(A) Alvin (A) Rome
(B) Falcon (B) Sarajevo
(C) Trident (C) Athens
(D) Titan

(D) Amsterdam

42. Match List-I with List-II :

List—I List—II 44. In the context of sports, which
(Footwear/ Fashion (Description) of the following pairs are
Accessory) correctly matched?
a. Beret 1. A type of men’s
footwear 1. Flushing Meadows : French
b. Stilettos 2. A type of sun- Open
glasses
c. Aviators 3. A type of hat 2. Venus Rosewater Dish
d. Chignon 4. A type of Wimbledon Trophy (Women)
women’s
footwear 3. Roland Garros : US Open
e. Brogue S. A type of
hairstyle 4. Australian Open (Women) :
Select the correct answer using gighne Akhurst Memorial

the codes given below.

Select the correct answer using

A a b c d e the codes given below.

3 2 1 4 5
B)a b c d e (A) 1 and 2
3 4 2 5 1
C) a b c d e (B) 2 and 3
5 3 2 4 1
(C) 3 and 4
(D) a b ¢ d e
1 2 3 4 5 (D) 2 and 4

19-C/FI/CC/PT-2023/201-A 18 IWNHUTIRELTORTT VT OREE oy o



41. TR WHZ H A ATCll 36 THge! 1 AW

F1E, S EF T F daEwy i

43.

TYE T Rt & qd agafd 3 g @
T STUT HIETTesh R el fea?

AT o SR B T off ?
(A) ufer (a) =
(B) e (B) TR
C) e .
© (C) wi
(D) 25
(D) wrEH
42, g1 =l geAi-11 § gaferd Hifm
-1 TqA-1I
(SIA /%y - e (Fereror)
[T 44. ©A & gy #, Frafafaa 4 @ =F-9
a. Nz 1. geut % S[d 1 U e wd gafea &7
BEALS
b. e 2. Th TR &l g4 1. AR Hies : e 37
Ealciull .
c. ufyued 3. TF TR i 2. o9 Usare fenr : fomeres g
d. Foi 4. st % @ (fe)
e el W AT
e. S 5. Ueh bR T - 3. H e e
o

4. IEferEE A (afear) ST

f= fau T e w o W T I FGE A F

KA f= fer T Fe W oW W S W
A) a b ¢ d e g
3 2 1 4 5
B)a b c d e (A) 132
3 4 2 5 1
(B) 23R 3
(C) a b c d e
5 3 2 4 1 © 334
(D) a b c d e
1 2 3 4 5 (D) 23 4
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45. The Ministry of Home Affairs has 48. Which country has recently

completed the Mother Tongue reaffirmed Arunachal Pradesh
Survey of India (MTSI) in as an integral part of India?
November 2022 with field

videography of the country’s (A) USA

how many languages?
(B) Australia

(A) 40

(B) 233 (C) Germany
(€) 576 (D) Russia
(D) 984

49. India’s Rudrankksh Balasaheb
Patil won which medal in Men’s
10 m Air Rifle at the ISSF World
Championship in Cairo?

46. Which State Government
launched the State-Level
Committee for Vulture
Conservation (SLCVC), proposed
by the national action for the

protection of vultures in India? (A) Gold
(A) Tamil Nadu (B) Silver
(B) Sikkim

(C) Bronze
(C) Assam

(D) Meghal (D) None of the above
eghalaya

47. Ten Faptive—bred 'Asian Giant 50. The National Education Policy,
Tortoises (Manouria gmys), one 2020 emphasizes the integration
of the largest tortoise species of vocational education into
in mainland Asia, were recently mainstream  education from
released into which National which grade onwards?

Park of India?
(A) Ntangki National Park (A) Grade 6
(B) Periyar National Park (B) Grade 8
C) Pench National Park
(C) Penc ational Par (©) Grade 10
(D) Khangchendzonga National

Park (D) Grade 12
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45, g WA | TE9eR 2022 H 9 H

46.

47.

fraft vt i dee ifemamd &
Y ARAE WG G (THo o
THo Mg ) M I I R 27

(A) 40
(B) 233
(C) 576

(D) 984

fre o @R 3 wa § figl %
e & foIu Ui AR g TEartad
firg waw & fou vso-wata w@fufa
(Tdo Wdo Hlo o Hio) T FYURW
fepan?

(A) afierg
(B) fufem
(C) 3tEm

(D) T

T Rfeg-Tea whers faemaes S ge
(wifen gft), gea i ot § =@
I FPI TSA H W TH, A & A
aRd o fohE TS 3T T B TT A7

(A) AN TEE 3
(B) ufem uga sam
(C) U= TE FEH

(D) SESIT TEHE 3

19-C/F1/CC/PT-2023/201-A

48. T & U frg w7 e @ srumEw

49.

50.

eI hl WA HT Tk NI 3 =
o 27

(A) Fo THo To

(B) erefern

(C) <

(D) =4

9RA % ¥1& ATAEIRE et o el d
Uz UHo WHo e Avd A A
el i 10 X TR TEhA H wH-d1
Taeh Sfar?

(A) @i

(B) =

(C) e

(D) 3w # & g T

g foen fifq, 2020 frm I @

rawTies e w geggw @i e |
ThIhd FH W AR It 27

A) TS 6
(B) Us 8
(C) T= 10

(D) s 12
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51. India signed the Economic
Cooperation and Trade Agree-
ment (ECTA) with  which
country?

(A) UAE

(B) Australia

(C) USA

(D) UK

52. The Plain Language Act was
passed by which of the
following  countries recently
which requires Government
officials to wuse simple and
easily understandable English
language in official documents

and websites?

(A) Australia

(B) Ireland

(C) New Zealand

(D) Germany

19-C/F1/CC/PT-2023/201-A

53. Tillyardembi Fossils of the
world’s first plant pollinators,
called Tillyardembiids, were
discovered recently in which
country?

(A) Greece
(B) India
(C) Russia
(D) China

54. The ‘Lisbon Declaration’, which
made headlines, is associated
with the conservation of which
entity?

(A) Air

(B) Mountains

(C) Oceans

(D) Freshwater glaciers
22 (IO OO



51.

52.

aRd A fRE I % wy omtde g
3R AR Fq9gid (3o o dHo To) W
FEaTaR fopu?

(A) Jo To go

(B) etegferan

(C) Fo THo To

(D) o Fo

west v fufem fefafea @ 9 e
W IR B & ° uiika R T e,
i werl eAftemian & snivenTies
TEATES 3R A9ETgel U T AR AEH
Y He § AW defl S W &
YN A I AR Bl 27

(A)  erefern

(B) IS

(C) =Isfiers

(D) St

19-C/F1/CC/PT-2023/201-A

53. g & TEd Uew WA, SR

54.

Foaefegm wa1 Smar 7, & foaewsh
e\ g1 g ° fore 2w ¥ 91w T 97

(A) =

(B) wmra

(C) =4

(D) =

THTS o WA § T 27

(A) 1]
(B) ued
(C) We™rR
(D) 3 urt & fER
23 [WNHEN OO e | e.r.o.



55. Which of the following animals 58. Sikkim became a full-fledged
was not known to the people of State of the Union of India in
the Indus Valley Civilization?

A) Bul (A) 1974
u
B) 1975
(B) Horse ®)
(C) 1976

(C) Elephant

(D) None of the above (D) None of the above

56. Which of the following is not 59. Which among the following
a UNESCO World Heritage Site? currencies is the costliest?
(A) Qutb Minar (A) Euro
(B) Red Fort (B) Pound Sterling
(C) India Gate (C) US Dollar
(D) None of the above (D) None of the above
57. The concept of the Directive 60. Bihar Government has planned

Principles of State Policy in
the Indian Constitution was
borrowed from the Constitution

to make Bihar State ‘pollution-
free’ by reducing carbon
emissions by which year?

of

(A) England (A) 2022
(B) Switzerland (B) 2024
(C) Ireland (C) 2030
(D) None of the above (D) 2047
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55. fHfiad ¥ ¥ wH-81 SHaR oy =

56.

57.

[T & T Rl TEY gaT Aq1?

A) I

(B) et

(C) weft

(D) 3udh # & 1S T

fiefefas § & @F-a TR e
e Tt el 37

(A) FI HER

(B) et fekett

(C) sfean e

(D) 3udeh # & 1S T

IRdE fdgm § 59 % Aifa-feee
forgra &1 sraemon foRe 3w % w@fgg™ 9
ot T oft?

() Fwie

(B) ferescte

(C) *ARReiE

(D) 37 | & HIE T

19-C/F1/CC/PT-2023/201-A

58. fafern wRdE @& &1 Q0 TSF o7 T

59.

60.

(A) 1974 #®

(B) 19754

(C) 1976 #

(D) 39 o & g T

frefafes & @ FA- gm @@
w2 ?

(a)

(B) UISE Tfefm

(C) Fo THe (R

(D) 39w & & g T

foeR wer 3 fFe ad q% Fe Iy
FH R TR T59 &® TEU-GH T
T AT T 27

(A) 2022

(B) 2024

(C) 2030

(D) 2047
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61.

62.

63.

In Indian art, the construction
of ‘Stupa’, ‘Chaitya’ and ‘Vihara’
is related to which of the
following?

(A) Ajivika sect

(B) Vaishnava sect
(C) Buddhism

(D) Shaiva sect

In the context of Indian
handicrafts, what is ‘Sujini’
in Bihar?

(A) A type of glassware
(B) A metal craft

(C) A type of embroidery
(D) A type of clay pottery

Consider the following
statements regarding the
Vikramshila University in
Bihar :

1. It was located in the
present-day Banka district
of Bihar.

2. It was established by King

Gopalal of the Pala
dynasty.
3. The ‘Vajrayana’ sect of
Buddhism flourished here.
4. Other subjects like
Astronomy, Logic, Law,

Grammar and Philosophy
were also taught here.

Which of the above statements
are incorrect?

(A) 2 and 3
B) 1 and 4
(C) 1 and 2

(D) None of the above

19-C/F1/CC/PT-2023/201-A

64. Consider the following
statements :
The arrival of Babur into India
led to the
1. introduction of gunpowder
in the subcontinent
2. introduction of arch and
dome in the region’s
architecture
3. establishment of Timurid
dynasty in the region
4. introduction of cannons in
warfare
Which of the above statements
are correct?
(A) Only 1 and 2
B) 1,2 and 3
(C) 3 and 4
(D) None of the above
65. Which among the following
ports was called Babul Makka
(Gate of Makka) during the
Mughal period?
(A) Calicut
(B) Surat
(C) Cambay
(D) Broach
66. ‘Ashta Pradhan’ was a Council
of Ministers
(A) in the Gupta administration
(B) in the Chola administration
(C) in the Maratha adminis-
tration
(D) in the Vijayanagara admin-
istration
26 [T OO0



61.

62.

63.

IR el § T, I IR frr’
=1 fmfor fefefaa & o o awafea
77

A)  sfifaes arEm

(B) AwrE HEIET

(C) g ud

(D) 39 TR

INdE gafyed & ged #, foer @
gt = 27

(A) T TR HT Hid & T

(B) s ug fred

(C) T TN =hl FaTE

(D) T YR 1 g 1 o

forer o formfaren fovaformme™ & arry
T, ffafiaa ot w famm fifsm

1. I foer & adum «er 5@ #
fesrq o

2. TEhH TATET ITd I & TSI M
oM 9 i off|

3. dg g4 % TSEE geeE Taf
HAT-Fe |

4. IE wa-foFE, dEImE, w6,
TR 3T 99 S8 1 fawy o
QT ST o |

W T W HH-U HI T 87
(A) 233

(B) 134

(C) 132

(D) 39t § & HI$ T

19-C/F1/CC/PT-2023/201-A

64. ffafgd weual = fomm Fifso -

65.

66.

WA § STeR o AT o shIol
1. 3UHEEM § 9TEe 1 ST gaTl

2. & h aEgEe B TeE iR e
1 T g3

3. W H qgfts TSR il T EE
4. FE H qi Al I T

T § ¥ HH-H HUHF T 27

(A) A 1 3R 2

(B) 1, 23R 3

(C) 3 3R 4

(D) 3w d ¥ =g T

frefafaa & o form squme @1 ga-
1A o SR dIgad Wel (W &l ER)
EESIGICIN

(A) etz
(B) W
(C)
(D) s

ey’ wf=afeg of
(A) T T |
(B) =t wuITEA
(C) TaT yuIed

(D) TR e |
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67. The painting of ‘Bodhisattva
Padmapani’ is located at

(A) Bagh

(B) Ellora

(C) Ajanta

(D) Badami

68. Consider the following
statements :

1. Fa-Hien was a Chinese
pilgrim who visited India
during the reign of Harsha.

2. Hiuen Tsang was a Chinese
Buddhist monk who visited
India during the reign of
Chandragupta II.

Which of the above statements

is/are correct?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above

69. Match List-I with List-II :

List—I List—II

a. Charaka . Mathematics

1
b. Brahmagupta 2. Medicine
3. Playwright

d. Vishakhadatta 4.

c. Varahamihira
Astrology

Select the correct answer using

the codes given below.
(A) a b c d
2 1 4 3
B) a b c d
1 2 3 4
(C) a b c d
3 2 4 1
(D) a b ¢ d
1 4 3 2

19-C/F1/CC/PT-2023/201-A

70. Who among the following
introduced the Persian festival
Nowruz in India?

(A) Firuz Shah Tughlaq

(B) Alauddin Khilji

(C) Balban

(D) HOtutmish

71. Nathpanthis, Siddhas and Yogis
made devotional religion popular
in
(A) Northern India
(B) Southern India
(C) Eastern India
(D) Western India

72. Consider the following
statements regarding Wood’s
Dispatch of 1854 :

1. It recommended English as
the medium of instruction
for higher studies.

2. It laid stress on female
education and vocational
training.

Which of the above statements

is/are correct?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

73. The Maithili language was

started to develop during the
reign of which of the following?

(A) Chero dynasty
(B) Oiniwar dynasty
(C) Karnat dynasty
(D) Pithipatis
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67.

68.

69.

‘Sifere garaTior’ ki Ut feod 2
(A) < H

(B) warH

(C) of<rar #

(D) rerHt §

fmafafaa wua = fomm fifso
1. wifeae w = diefash o, s
TY o YEAhICT o S WILd ST

or|
2. ®Iwm um At stg fuyg 9,
e =se fodfr & smomera &
R 9T T R TR o)
Suh § @ HH-91/8 T T B/27
(A) w1
(B) Hadt 2
(C) 1 3R 2 gt
(D) 39 H ¥ =I5 T
-1 =l g-11 & gofera hife
-1 TA-11
a. I 1. T
b. SEH 2. Taferean
c. TR 3. AEHHN
d. femaes 4. Sty
= fer T g W oW W FH IW
EGY
(A) a b c d
2 1 4 3
B) a b c d
1 2 3 4
(C) a b c d
3 2 4 1
(D) a b c d
1 4 3 2

19-C/F1/CC/PT-2023/201-A

70. T O fored wid 9 W SR s

71.

72.

I e 7

(A) TR wmE grees
(B) At faersht
(C) weteH

(D) Feqaiy

Tromfort, fagl iR At 3 wfe o
= form & § SRl sAmE?

(A) I 9RA

(B) aferor wra

(C) o v

(D) ufvad wra

e * 1854 F YW F TEY W,

Freafefaa womt w fomm s

1. 309 3= IeqEd & forw foem &
meIm o B9 T IS Sl i
el

2. T Hfgen fren i R
gfsteror W SR feam)

3T H O HA-T1/T FIA T /87

(A) w1

(B) had 2

(C) 1 3R 2 gt

(D) 9 13mad2

73. Aftet ww o fefafaa @ @
fopereh STTEAERTE o SN Y& gaAT?
(A) =R T
(B) ATgHem Trsterm
(C) wATe TSTaw
(D) fuferafa
29 [T e.r.o.



74.

75.

76.

Which city served as the capital
of the ancient kingdom of
Magadha during the early Vedic
period?

(A) Rajagriha

(B) Campa

(C) Vaishali

(D) Pataliputra

Which of the following
statements about the
Vernacular Press Act is/are

correct?

1. It was enacted by Lord
Lytton.

2. It came to be known as a
‘Gagging Act’.

3. The Act was repealed by
Lord Ripon.

Select the correct answer using
the codes given below.

(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 1

D) 1, 2 and 3

Which of the following state-
ments about Lord Mayo’s
Resolution of 1870 are correct?
1. It was the first step that
bifurcated Central and
Provincial finances.

2. Provincial Governments
were empowered to admin-
ister certain services.

3. It attempted to
existing imparity.

rectify

4. It focussed on the actual
needs of the Provinces.

19-C/F1/CC/PT-2023/201-A

77.

78.

79.

80.

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 1, 3 and 4

(C) Only 2, 3 and 4

D) 1, 2, 3 and 4

Nitisara, an early book of
politics, was written by

(A) Kautilya

(B) Kamandaka
(C) Charaka

(D) None of them

Futuhat-i-Alamgiriwas written by
(A) Ishwardas Nagar

(B) Bhimsen

(C) Haridas

(D) None of them

According to Chinese source,
Meghavarman, the ruler of
Sri Lanka, sent a missionary to
which of the following Gupta
Kings for permission to build a
Buddhist temple at Gaya?

(A) Chandragupta I
(B) Samudragupta
(C) Chandragupta II
(D) None of them

When was Bihar first separated
from the Bengal Presidency
under the British-ruled India?

(A) 1912
(B) 1936
(C) 1947
(D) None of the above
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74. URF dfdsk A F SHE HIT-AT Il

75.

76.

TT 7Y qETsT Skl TS o6 w9 A
T HLAT AqT?

(A) TSTR

(B) =wa

(C) umedt

(D) referg=

T T e T S e £
Y HH-91/8 Foe wE 2/87

1. 3§ die foed g sAfufafa forn
T |

2. 3@ ‘Nfim sfufew’ % w9 4 S
Eichsull

3. 3@ sAtufem w1 @ fom 3 e
T T o)

d= fer T Fe W oW W IW

|

(A) Had 1 3R 2

(B) ad 2 3R 3

(C) et 1

(D) 1, 233

die WA % 1870 & Tehed & SR H,

frafefaa @ @ ®9-8 %o @ 87

1. FEF R ud fom o fanfsa
FH AT IE TEAT had T |

2. Ui TIHRI I FB AATE T
F T SAER T )

3. TEH HINE FEEHAT Rl URA H
ERIREDI

4. 3O Tl ARt STEvIhdTsT
T M hisd foma|

19-C/F1/CC/PT-2023/201-A

77.

78.

79.

80.

=g few g TN W FE I
Fo

(A) A 1 3R 2

(B) @adt 1, 3 3R 4
(C) %ad 2, 3 3R 4
(D) 1, 2, 33N 4

T <t TRives gEaes, Hifaar, feas
g Tt w8 oft?

A) Hfeea

(B) <

(C) ==

(D) 38 ¥ =[g T

FqEra-T-ail feae g fowt
T oft?

(A) EYeRE™ AR

(B) ofrmed

(C) Them

(D) T & HIS T

it \id %k TER, el % wEw
HgEHT 4 TN O §hg " S
srgAfa & fou ffafaa & @ fre
TS o U U e 9=t on?

(A) =sTH o

(B) SHSIH

(C) =W farr

(D) T & g L

w4 foer weett e fafex-wmfed wma &
qEd S YHISH! | ST g3 A7
(A) 1912

(B) 1936

(C) 1947

(D) 37 | ¥ HIE T
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81.

82.

Consider the

statements :

1. Lake Victoria is the third
largest freshwater lake in
the world by surface area.

following

2. It is one of the great lakes

of Africa.

3. It is bordered by
four countries—Tanzania,
Uganda, Rwanda and
Kenya.

4. The only outflow from Lake
Victoria is the Nile River,
which exits the lake near
Jinja, Uganda.

Which of the above statements
are incorrect?

(A) 1 and 2
(B) 2 and 4
(C) 3 and 4
(D) 1 and 3

Consider the following state-

ments regarding ‘heat wave’ :

1. Heat wave is considered if
the maximum temperature
of a station reaches at least
30 °C or more for plains.

2. Heat wave is considered if
the maximum temperature
of a station reaches at least
40 °C or more for hilly
regions.

Which of the above statements
is/are correct?

(A) Both 1 and 2
(B) Only 1

(C) Only 2

(D) Neither 1 nor 2

19-C/F1/CC/PT-2023/201-A

83. Match List-I with List-II :
List—I List—II
(Explorer) (Birthplace)
a. Christopher 1. Portugal
Columbus
b. Jacques Cartier 2. United
Kingdom
c. Sir Francis Drake 3. Italy
d. Ferdinand Magellan 4. France

Select the correct answer using
the codes given below.

(A) a b c d
3 4 2 1

B) a b c d
1 2 4 3

(C) a b c d
3 4 1 2

D) a b c d
1 4 2 3

84. The emirates of UAE are

(A) Abu Dhabi, Dubai, Sharjah,
Ajman, Umm Al-Quwain,
Fujairah, Ras Al-Khaimah

(B) Dubai, Sharjah, Ajman,
Jeddah, Kuwait, Bahrain,
Umm Al-Quwain

(C) Umm Al-Quwain, Fujairah,
Ras Al-Khaimah, Riyadh,
Dammam, Taif, Dubai

(D) Sharjah, Abu Dhabi,
Ajman, Fujairah, Dubai,
Bahrain, Kuwait

85. The river Subarnarekha

originates near which of the

following villages?

(A) Ormanjhi

(B) Mandar

(C) Hehal

(D) Nagri
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81.

82.

Frafafaa womt = femm Fifse

1. Wag &9%a & feard | fererfan
e gfen it dredt Tem o i
urt T gl 2|

2. IE IHH A wew e A @
T 2

3. Z@h "W WR I—dwTE,
FiET, el 3R FH= & Tt B

4. fo@eten sia @ feew @l
THAT G i T4 7, S OET %
= o Tw sfie ¥ S et
2l

S0 # ¥ FH-U FHU TTerd 87

(A) 132

(B) 2 3 4

(C) 334

(D) 13K 3

‘e aa’ & gy |, FEfafiaa st

W foem fifsu

1. 3fe fordt Aer someh w1 sifeeRan
A FH-B-FA 30 °C a7 399
Afer T g S g, @ 39 2R
A9 HET ST B

2. 3fe fordt weEl gatmek @ sifereRan
qUHE FH--FA 40 °C A1 30Y
fYes deh Iga ST 8, df 39 de
A HHET ST B

39 H U HIA-T1/T FI UL /87

(A) 1 2R 2 At

(B) wad 1

(C) Hadt 2

(D) 9dl 13T 2
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83.

84.

-1 =l GH-11 & gafea HiT
-1 Ten-11
(ErsTeRat (T
a. TR wieeE 1. gama
b. S8 FfER 2. IATEE fopreH
c. MEI| g% 3. et
d. ®féie em 4. W
f= few T Fe W oW W FE W
|
(A) a b c d
3 4 2 1
B) a b ¢ d
1 2 4 3
(C) a b c d
3 4 1 2
D) a b c d
1 4 2 3
Fo o $o % Teamadt T &

(A) ¥ e, g, WRSTE, SIS,
I IA-*A, FoIE, T ITA-
LCRIF

(B) &%, VINSE, 3TSMM, S, Had,
TELH, I STA-S

(C) 3 AA-%4, Pog, T@ ITd-

(D) YRSTR, 379 9w, T5HH, FollE,
TR, &M, Fod

. gavRwEn ¥4t FEfaRad § 9 69 T 6

o & Feerdt 87
(A) TrwrEh
(B) #eR

(C) ®ed

(D) FrI
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86.

87.

Which of the following National
Parks/Wildlife Sanctuaries are
in Bihar?

1. Valmiki National Park

2. Dudhwa National Park

3. Gajner Wildlife Sanctuary
4

Bhimbandh Wildlife
Sanctuary

Select the correct answer using
the codes given below.

(A) 1 and 4
B) 2 and 3
(C) 1 and 3
(D) 2 and 4
Consider the following
statements regarding the

‘Gangetic Dolphin’ :
1. The Gangetic River Dolphin
has been categorized as

‘endangered’” under the
IUCN’s Red List.

2. It does not have
a crystalline eye lens
rendering it  effectively
blind.

3. Navigation and hunting
are carried out using
echolocation.

4. It has been recognized
as India’s National Aquatic
Animal.

Which of the above statements

are correct?

(A) Only 1, 2 and 4
(B) Only 2, 3 and 4
(C) Only 1, 3 and 4
(D) All of the above

19-C/FI/CC/PT-2023/201-A

88. The other name of river Gandak
is
(A) Burhi Gandak
(B) Mahananda
(C) Narayani
(D) Punpun
89. Gold is found in which of the
following districts of Bihar?
(A) Munger
(B) Saran
(C) Siwan
(D) Jamui
90. The Triveni Canal has been
constructed on which of the
following rivers?
(A) Kosi
(B) Sone
(C) Gandak
(D) Mayurakshi
91. Assertion (A) :
Rich placer deposits of gold
are found on the Ghana coast
and gold-bearing veins are
found in Brazil.
Reason (R) :
At some points of time, these
continents were joined
together along the Atlantic
coast.
Select the correct answer.
(A) Both A and R are true and
R is the correct explanation
of A
(B) Both A and R are true
but R is not the correct
explanation of A
(C) A is false but R is true
(D) A is true but R is false
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86.

87.

frafafga @ @ =9-9 T s@Em/
Fsia v 3 fogr § 87

1. drcHifs T 3

2. gydl UEE ITH

3. TSR FSE STWER
4. ofig 91y I=cT STYIR

= fou T g W oW W AFE IW

E

(A) 1 3R 4

(B) 23R 3

(C) 13R3

(D) 2 3 4

‘Tifew et & Ty 7, fefafaa

FAl W fomm Al

1. T Tt i Sifer # emge o
o o it T foe & dwa
‘TEa’ St o ¥ H ariehd foRaT
T

2. T wE freedm W@ oW T 2,
S 30 gwTell B9 § ST o S 2|

3. IE THIAIRIE H AN HL AW
aedl @ 3T freer wedt 21

4. W ORG & TEA ST Sha % ®9
T W= € T 2

3w T ¥ HE-T FIH T 27
(A) Fad 1, 2 3R 4

(B) aa 2, 3 3R 4

(C) %aa 1, 3 3R 4

(D) 3w @+ft
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88.

89.

90.

91.

Teeh el o gEU AW ©

(A) & TeH

(B) =EH=T

(C) vt

(D) g7

forer & Frefafaa @ @ fra @ § |
T ST 87

(A) gR

(B) wmm

(C) foam

(D) e

Franft et = fmto Fefaiea @ @ fea
e o fopan e 37

(A) e

(B) &M

(C) e

(D) wmaft

Hfvpem (A)

g 9 W 9H % 9YE TR SHE
9 S1d § S sl 4 @n i fiwd
T STt 2

%I (R) -

foret T ¥ HEE STedifed 9@ &
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el IW gHU|

(A) A 3R RIF W&l 2 IR, AR

e AT 7
(B) AR RIM Tt € WR, A H
el =T T §
(C) ATd e MR T 2
(D) A9 2 W R T
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92.

a. Dharwar rock

c. Quaternary 3.

Bihar’s geographical structure
consists of rock systems. Match
the rock systems with their
descriptions :

1. Created by the
rapid  deposi-
tion of alluvium
by Himalayan
and Peninsular

system

rivers
b. Vindhyan rock 2. Can be found
system in the West
Champaran
district

Part of the
oldest Archaean
rock system

rock system

d. Tertiary rock 4. Sandstone,
system limestone,
dolomite,

quartzite and
shale are the
main constitu-
ents of this rock
system

Select the correct answer using
the codes given below.

(A) a

w

A~ T
— 0
N Qo

o
o
¢}
o,

(B)

(C) a b c

(D) a

o8
@]
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93.

94.

95.

Which one of the following is the
world’s richest region from a
marine biodiversity perspective,
comprising twenty-one islands
with estuaries, beaches, forests
of the nearshore environment,
sea grasses, coral reefs, salt
marshes and mangroves?

(A) Gulf of Mannar Biosphere
Reserve

(B) Nanda  Devi

Reserve

Biosphere

(C) Sunderbans
Reserve

Biosphere

(D) Nilgiri Biosphere Reserve

What is the local time of
Thimphu (Bhutan) located at
90° East longitude when the
time at Greenwich (0°) is 12:00
noon?

(A) 6:00 p.m.
(B) 4:00 p.m.
(C) 7:00 p.m.
(D) 6:00 a.m.

Which of the following state-
ments is correct?

(A) Natural gas is found in
Dharwar rock formation.

(B) Mica is found in Kodarma.

(C) Cuddapah series is famous
for diamonds.

(D) Petroleum  reserves are
found in Aravalli hills.
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92. fugr i Wimfaes w=aT =g yonfert

g ot B1 =gl yonfeR o 39 faar
ﬁﬁ?ﬂqeﬁﬁ"{

a. YNaTe IgH Yonet 1. feHmert e iR

i afet g
gt enfe & i
sa1g 9 fafifa

b. e 9g@ et 2. ufydt Sunor o

T 91 S Hehdl B

c. HREH! 9EH YUl 3. Hed qUH iR

T faeem =1 e
H

d. gtk =g oTelt 4. ST qe, T

e, SIATEe,
FESEE IR I
G TS YTl &
T TF &

f= fou MU g w OTEE W EE IW
L

(A) a b c d

3 4 1 2
B) a b c d
1 3 2 4

(C) a b C

N
w
N
—_

o8
@]

(D) a
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93.

94,

95.

fefafegs & @ #9-wr 9gd 9
fafgear & gfeemr @ gfenm w1 w=@
frere-ad qaferer = Sd, 9gd o,
are ffl, 0% ded IR e %
T Y E19 IS &7

(A) TR H @rEl TEEhRR o

(B) a1 <t aeheR fisd

(C) YateH aEhRR frord

(D) frafir sreher fisd

90° et s W fera fovg (M) =

T g fuita Fifve, se e
(0°) ® 29X 12:00 =t HT T9T 2 |

(A) 6:00 p.m.
(B) 4:00 p.m.
(C) 7:00 p.m.

(D) 6:00 a.m.

ffafiad & & F-91 %oF a8t 87

(A) YRATE FgH G § Uhfash T4
TE STt 2 |

(B) 219k HISHT | TR ST 2|
(C) hew sae ERi & fer wfts 7|

(D) wgifcrem wer sREel werfgai |
91T ST |
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96.

97.

How many latitudes are there
on the globe drawn at 1 degree
interval?

(A) 180
(B) 178
(C) 179

(D) None of the above

The average height of the Kosi
plain from mean sea level is

(A) 300 m
(B) 150 m
(C) 30 m

(D) None of the above

19-C/F1/CC/PT-2023/201-A

98.

99,

100.

On which plateau, the Tropic of
Cancer and the Indian Standard
Time Line intersect each other?

(A) Bundelkhand

(B) Baghelkhand

(C) Malwa

(D) None of the above

Which district of Uttarakhand
is not situated along the Tibbet
boundary?

(A) Uttarkashi

(B) Chamoli

(C) Almora

(D) None of the above

Where does the El Nino current
flow?

(A) The Pacific Ocean

(B) The Indian Ocean

(C) The Bay of Bengal

(D) More than one of the above
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96. e W 1 feft & e W di=ht T

37eqTeT WETd femat 87
(A) 180
(B) 178

(C) 179

(D) 3Ww & @ 1S T

97. ®E HgH # W THE dd ¥ WA

e ®

(A) 300 Hx

(B) 150 e

(C) 30

(D) 37 | & HIE T
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98.

99,

100.

59 9BR W Feh-TE YT WA HHEh
T [T Th-gER I el &7

(A) F<TE S

(B) <EIe@ g

(C) W

(D) 3w # | g T

IWE € 1 HH-a1 e fossa €fmr @
g T 87

(A) LT

(B) =i

(C) srermrel

(D) 3Ww H © 1S T

ud A1 o e vanfed w27
(A) TRT WETETR
(B) fe= wemmR
(C) et i @rgl

(D) 39w | ¥ UH ¥ M+
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101.

102.

Consider the following
statements about the collegium
system :

1. The Supreme Court

collegium is a five-member
body, which is headed by
the incumbent Chief Justice
of India (CJI) and comprises
four other seniormost
Judges of the Court at that
time.

2. The Parliament by law
has evolved the collegium
system.

3. The Judges of the Supreme
Court and High Courts are
appointed only through the
collegium system.

4. The collegium system was
introduced in the year 1993
by Justice P. N. Bhagwati
in the landmark First
Judges Case.

Which of the above statements
is/are correct?

(A) Only 1

B) 1 and 2

(C) 3 and 4

(D) 1 and 3

Consider the following

statements regarding the 42nd

Amendment to the Constitution

of India :

1. It added three words
to the Preamble—‘Socialist’,
‘Secular’ and ‘Integrity’.

2. It added eight Fundamental
Duties to the Constitution.

3. It added new Directive
Principles, i.e., Article 39A,
Article 43A and Article 47.

19-C/FI/CC/PT-2023/201-A

4. It granted power to the
President, in consultation
with the Election Commis-
sion, to disqualify members
of the State Legislatures.

Which of the above statements
are incorrect ?

(A) 1 and 2
(B) 3 and 4
(C) 2 and 3
(D) 1 and 4

103. The specifications required for
a community to be declared as
a Scheduled Tribe are
1. indications of primitive traits
2. distinctive culture
3. shyness of contact with the

community at large
4. backwardness and geogra-
phical isolation

Which of the above are correct?
(A) Only 1 and 2
(B) Only 2, 3 and 4
(C) Only 1, 3 and 4
(D) All of the above

104. From which country, the Indian
Constitution has taken reference
for the idea of the Fundamental
Rights?
(A) Ireland
(B) United States of America
(C) United Kingdom
(D) Canada
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FiASET TUelt & SR H, ffeiad

FHA W o= fifs

1. gfm ®E HdEw TH drE-
e e 8, fSeeh s
IRd % HISE g A
(Hio So 3Mgo) = T IR 3@
g 3O @ H e 9R
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B Bl

2. uug 4 fafa g wiafsem gomeft
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3. =GR FEE AR 3T A
% =i f g Hiem
Tunel! % e A & A ST 2 |

4. THICISEH SO i YEsTd ad
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3IUAeEd § i TE off|

3wk | | HH-1/T heF T B/27
(A) a1
(B) 1 3 2
(C) 334
(D) 13K 3

TRATT Giae™ & 429 G0e & T

1, ffafaa st ® e fifsw

1. 304 Y&EA § d9 W S
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2. TE4 GEYW H TS Hifds whded
I
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103.

104.

4. 3Ok EN UPAT I FAE TN
wWEY W ST (aue-gaeT/
T gl & TS HI IE A
L T ATRR TeH FoRam T |

ST § ¥ HH-T HIH Terd o7

(A) 132

(B) 33 4

(C) 23R 3

(D) 1 3R 4

fordt Tem™ w1 Aggfd ST o &
H =ftd e o forw errawres fafirsard §

1. fen A&l % Hepd

2. faferm gwpfa
3. 92 UM W WE™ % 1Y Th

7 v
4. TUzemm wa dimfas s
3w § ¥ HE-T w87
(A) a1 3R 2
(B) aa 2, 3 3R 4
(C) a1, 3 3R 4
(D) 3w &t
IR wfgam § difas SRR &
o =1 st fopm 2w @ oo mm 27
(A) IRReE
(B) HIE T ST
(C) Zms2s fopmem

(D) TSl
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105.

106.

107.

108.

Untouchability is abolished
by which Article of the Indian
Constitution?

(A) Article 14
(B) Article 15
(C) Article 17
(D) Article 22

The authority to determine the
number of Judges in a High
Court rests with which of the
following entities?

(A) The President

(B) The Chief Minister of the
State

(C) The Prime Minister
(D) The Parliament

The Fifth Schedule deals with
the governance and protection of
the interests of which specific
group of people?

(A) Scheduled Castes

(B) Religious Minorities

(C) Scheduled Tribes

(D) Linguistic Minorities

In which case(s) did the

Supreme Court of India give
for the first time the doctrine

of ‘basic structure’ of the

Constitution?

(A) Golaknath vs. State of
Punjab

(B) Kesavananda Bharati vs.
State of Kerala

(C) Minerva Mills vs. Union of

India
(D) Both (A) and (B)

19-C/FI/CC/PT-2023/201-A

109. Match the following political
parties listed in List-I with their
years of establishment in

List-II :
List—I List—II
(Political Parties) (Years of
Establishment)
a. Communist Party 1. 1964
of India (Marxist)
b. Communist Party 2. 1998
of India
c. Bahujan Samaj 3. 1925
Party
d. All India Trinamool 4. 1984

Congress (AITC)

Select the correct answer using
the codes given below.

(A) a b c d
1 3 4 2
B) a b c d
2 1 4 3
(C) a b c d
2 1 3 4
(D) a b c d
3 4 1 2
110. Under which Article(s), the

Speaker can allow any member
of the House to speak in his/her
mother tongue?

(A) Article 110 (1)
(B) Article 122 (2)
(C) Article 120 (1)
(D) Both (A) and (B)
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107.

108.

g dfgam % e eogese 3|
STETLIAT ! T TR T 27

(A) =32 14

(B) =3 15

(C) ¥rg=ss 17

(D) 3TI=3% 22

I e B o=Enden e
Fraffa & =1 iR el 4 @
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(A) gt

(B) T o geAwHA

(C) wermwt

(D) @He

gt sTge R fafsre age & @ &
e 37K fedt 1 gren @ wrafea 27
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(C) 3wgEfe S
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(B) VA=< YRdl AW T T
(C) fa=at fieq sAm 9RdT a9

(D) (A) 3% (B) ami
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111.

112.

The Foreign Exchange Reserves
(FER) of RBI include which of
the following?

1. Foreign Currency Assets

(FCA)

2. Gold

3. Special Drawing Rights
(SDR)

4. Reserve Tranche Position

Select the correct answer using
the codes given below.

(A) Only 1 and 2

(B) Only 2, 3 and 4
(C) Only 1, 2 and 3
(D) All of the above

Consider the following
statements about ‘Rules of
Origin’ :

1. Rules of Origin are the
criteria needed to determine
the national source of a
product.

2. Rules of Origin help the
custom agencies to know
what regulations and fees
apply to a given product.

3. These are wused for the
purpose of trade statistics.

4. Their importance is derived
from the fact that duties
and restrictions in several
cases depend upon the
sources of imports.

Which of the above statements

are correct?

(A) Only 1 and 2
(B) Only 3 and 4
(C) Only 1, 3 and 4
(D) All of the above

19-C/FI/CC/PT-2023/201-A

113. Consider the following
statements about infant
mortality rate :

1. It is the probability of dying
between birth and exactly
1 year of age, expressed per
10000 live births.

2. The infant mortality rate in
the year 1950 was 189-6.

3. In the year 2019, the infant
mortality rate was 30.

4. As per the Sample
Registration System (SRS)
Bulletin of Registrar
General of India (RGI), the
State with the highest
infant mortality rate in the
year 2019 was Uttar
Pradesh.

Which of the above statements

are correct?

(A) 1, 2 and 3

B) 2, 3 and 4

(C) Only 2 and 3

(D) 1 and 4

114. Human capital formation as
a concept is better explained
in terms of a process, which
enables
1. individuals of a country to

accumulate more capital

2. increasing the knowledge

3. increasing the skill levels

4. increasing the knowledge,
skill levels and capacities of
the people of the country

Select the correct answer using

the codes given below.

(A) Only 1

B) 1 and 2

(C) 3 and 4

(D) Only 4
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112.

ARo o 3Mmgo F fomeft gz wew
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HH-Y A 27
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g

(A) w1 3R 2

(B) %ad 2, 3 3R 4
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115. Consider the following state-
ments regarding insolvency and
bankruptcy :

1. Bankruptcy refers to a
financial state in which
an individual or entity is
unable to pay off their debts
as they become due.

2. Insolvency refers to a legal
process, where the assets of
the debtor are liquidated or
reorganized for the benefit
of creditors.

3. Bankruptcy is a state
whereas insolvency is the
conclusion.

4. The Insolvency and
Bankruptcy Board of India
(IBBI) is the regulatory body
responsible for overseeing
insolvency and bankruptcy
proceedings.

Which of the above statements
is/are correct?

(A) 1, 2 and 3
B) 2, 3 and 4
(C) Only 4

(D) Only 1 and 2

116. In which year was the Industrial
Policy Resolution adopted?

(A) 1956
(B) 1954
(C) 1952
(D) 1950

19-C/FI/CC/PT-2023/201-A

117. Consider the following state-
ments about the Production-
Linked Incentive (PLI) scheme :

1. The scheme offers a
production-linked incentive
to boost domestic manufac-
turing and attract large
investments in mobile
phone manufacturing and
specified electronic
components.

2. The scheme has two
categories of applicants,
namely, global companies
and domestic companies.

3. The scheme shall extend an
average incentive of around
8% on net incremental sales
(over base year) of goods
manufactured in India and
covered under the target

segment, to eligible
companies, for a period of
six years.

4. The target segment under
PLI shall include (i) laptops,
(i) tablets, (iii) all-in-
one PCs, (iv) servers and
(v) Ultra-Small Form Factor
(USFF).

Which of the above statements
are incorrect?

(A) 1 and 4
(B) 2 and 4
(C) 1 and 3
(D) 2 and 3
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115. feamen iR wmem Stemar & &Ry H,

116.

frmfafiaa suat w fomm Aifse .

1. wMed 1gmar o arerd 39 foefi
ferfa @ 2, o =+ =afe
TEAT TP B W U O HT
P w3 8 e g 2l

2. TeaTen wh L iR i el
AT g, W@l SRR I wE
el % AW & fow wEwE A

gifed <l St |

3. IMYA &HAT THh IGEAT 8, ik
IECIGIRE

4, 9 fearenm s wed stemar
TE (g0 o o 3MMgo) Teamam
AR WMYA  AFHAT wHEATET H
@ % fau forer  femes
e 2

Sudeh § @ HH-91/8 T G B/27
(A) 1,233

(B) 2, 3 3 4

(C) a4

(D) aat 1 3R 2

enfies fifa deca form o smamn
Y

(A) 1956
(B) 1954
(C) 1952

(D) 1950

19-C/F1/CC/PT-2023/201-A

117. IEA-gwrg Tiede (o Tdo 3130)

AT % AR H§, FEfaiad wOE W
[ECLECAIE g

1. ¥g IS e fafmior & s
T IR Hiega wF fafmio qen
fifée soeite Tewt d s fem
FI ARG FH F U IR o
S8 TicHTed i UeTeRsT et 2|

2. TH ASH H AESH h &l FfEt
g, Afes @il iR W
T |

3. € Al UE HEEAT B B
#1 gty & fore wra § ffda ik
T At # wfie aeget f s
ggefia fohl (amem ad W) =
T 8% T 3T TcdTed IS
At 2|

4. dio Udo Mo % dgd @& AV H
(i) olue, (i) 2=, (i) ATd-
H-aq do Ho (iv) "R IR
(v) Te-THIA BH HFX (Fo THo
Tho Tho) el &l |

IWIE § § HH-T FHIA Terd o7

(A) 1 3R 4

(B) 2 3 4

(C) 133

(D) 2 3R 3
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118.

119.

Consider the following statements

regarding the SVAMITVA scheme :

1. It is a Central Sector
Scheme under the Ministry
of Mines.

2. This scheme seeks to
create geopositioning infra-
structure like CORS
network to benchmark the
location and provides five
centimetre level accuracy.

3. CORS means Cross-Origin
Resource Sharing.

4. The scheme is a reformative
step towards establishment
of clear ownership of
property in rural inhabited
(Abadi) areas, by mapping
of land parcels using drone
technology.

Which of the above statements

are incorrect?

(A) 2 and 4
B) 1 and 3
(C) 2 and 3
(D) 1 and 4

Which of the following is/are

the consequence(s) of invoking

Article 360, declaration of a

financial emergency?

1. The President may order the
States to reduce the salaries
and allowances of all or any
class of employees serving
in connection with the State
affairs.

2. Money Bills or other financial
bills passed by the State
Legislature are not required

to be reserved for the
consideration of the
President.

19-C/FI/CC/PT-2023/201-A

3. The President can issue
directions for the reduction
of salaries and allowances of
all or any class of employees
serving in connection with
the affairs of the Union,
including the Judges of the
Supreme Court and the High
Courts.

4. Money Bills or other financial
bills are to be reserved for

the consideration of the
President after they are
passed by the Legislature of
the State.

Select the correct answer using
the codes given below.

(A) Only 1, 3 and 4

(B) Only 2

(C) Only 1 and 2

(D) All of the above

120. Which of the following factors
could potentially contribute to
stagflation in the Indian
economy?

1. High inflationary pressures
due to increased Govern-
ment spending

2. Decline in industrial
production and sluggish
economic growth

3. Decrease in aggregate
demand and consumer
spending

4. Appreciation of the
domestic currency leading
to reduction of export
competitiveness

Select the correct answer using

the codes given below.

(A) Only 1 and 2

(B) Only 2 and 3

(C) Only 1, 3 and 4

D) 1, 2, 3 and 4

a8 100000 R R



118.

119.

‘Tfirea’ A & Ty #, fEfafea

FHAl W o fifs

1. I8 @ B & eRR H SEd
T Hedd & AT 2

2. ?Ts'??ﬁﬁ:ﬂ'{:ﬁo 33ﬁo Mo THo
Feak At ae i
THRZFR 1 Uid AT dh 6l
FAwdl YeH HH AT TG S
T T WG R

3. Hlo 3o IMo THo 1 Haws
g -Affem fad o 7)

4. g ST S qehAT T ITAN T
I % BR-BIE WS F AR
IR ek T SfeE (TTETe)
F &l 0 gufd w1 WY e
T o % T T guresh
g YEH Ll 2 |

I W U HH-T FHI TeAd o7
(A) 23R4
(B) 13K 3
(C) 23R 3
(D) 134

et Tl smuqwe di feafa @

31g=88 360 ! AN FH /6 TROMH

frafafiga & @ sF-wr/a 2/87

1. Tguld sl & TST AWl h
Tray 0 gard |t a1 foreft =t &
FHATET & daq 3R W A
T 3T < Tehd B

2. U9 fourwsa 3w wifi@ oA
fates o o= e fgws =
Tyafa & fommad sfea wn A
YT TE 2|

19-C/F1/CC/PT-2023/201-A

120.

3. UwUfd 3I=aH =EeE IR 3=
AT o Sl o @Y HE Al
& Ty T gang et o foeet o
F FHAET & da9 TR v HA
T T AR ¢ Tehd ¢ |

4. =7 fourmes g i@ B9 &
T o fgEs W s el
g oufa & foeme smiaa
Tl S|

f= few T g W oW W EE W

EG

(A) Faa 1, 3 3R 4

(B) Fad 2

(C) waat 1 3R 2

(D) 3w asft

frfefiad #§ @ FH-8 FRe Gurfad &9

U aRdE rfeawen # gEehifasd

HEl | ARG R Thd &7

1. ol @4 ° 3fg & wRm 3=
EEhIfd 3o

2. imEfie I ® firEe ok
aifelen formar ® et

el AT 3TN JUFIHN @ § Sl

4, W YA A ghg k wRo TR
yfcreaeteaarar § st

d= fau MU Fe W WM W G IW
|

(A) I 1 3R 2

(B) a2 3R 3

(C) *aa 1, 3 3R 4

(D) 1,2,33R 4
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121.

122.

123.

As per the Economic Survey,
2023, which of the following
statements describe(s) the trend
of Foreign Direct Investment
in India?

1. It has decreased due to the
less participation of the
private sector.

2. It has increased compared
to the prepandemic levels.

3. It has increased rapidly
without decreasing in any
Financial Year after the
telecom sector was entirely
reformed.

4. It has decreased due to
a weak global economic
situation.

Select the correct answer using

the codes given below.

(A) Only 1 and 3

(B) 2 and 4
(C) 1, 2 and 3
(D) Only 4

What is the current population
of Gaya district of Bihar?
(A) 598000

(B) 320000
(C) 780000
(D) 234000
Which of the following
statements about non-plan
expenditures of the Central

Government is correct?

(A) The expenditure is on
interest payments.

(B) The expenditure is on
science and technology.

(C) The expenditure is on
agriculture.

(D) None of the above

19-C/F1/CC/PT-2023/201-A

124. Which of the following is not
true about globalization and its
impact on India?

(A) It has expanded trade in
goods and services.

(B) It has led to greater flow of
Foreign Direct Investment.

(C) Increase in exports is
greater than increase in
imports.

(D) None of the above

125. Consider the following
statements about the Ilatest
developments in the Union
Government finances :

1. The fiscal deficit of the
Union Government had
reached 9-2 percent of GDP
during the pandemic FY21.

2. The fiscal deficit has
moderated to 7-7 percent of
GDP in FY22.

3. The revenue collection over
the last two years has gone
down.

Which of the above statements

is/are correct?

(A) Only 1

B) 1 and 2

(C) 2 and 3

(D) None of the above
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121.

122.

123.

sl waam, 2023 % ER,

frefafaa & @ F9-91/8 FoF 9rg |

gy faft faw & waf w1 9ol

AT /Fd B/E?

1. = & & =0 arfiert & wro
To et o R

2. WEMM ¥ UgA o R A gor °
T gfg gl

3. <cnm T H gl @@ ¥ guR
TN F ae e oft o ad @
form =2 zad osht & e g

4. wusR afwas o feafa &
RO 3HH FHHT TS B

d= fer T g W oW =W IW

g

(A) Fad 1 3R 3

(B) 2 3R 4

(C) 1, 233

(D) %ad 4

foer & T fen i adAE SHEE
fopertt 27

(A) 598000

(B) 320000

(C) 780000

(D) 234000

&5 TR R-ASET = F aR H,

Frafafaa @ & =H-a1 wu= T 27

(A) =, SIS PTAE W BT 2

(B) =¥, fogm iR drenfiefht @ @
H

(C) =, FN W e 2l

(D) 39t # ¥ IS T

19-C/F1/CC/PT-2023/201-A

124. IR0 3T YA W 34k A o o1

125.

¥, Ffafgd § @ SH-91 9 & 87

(A) 3O SEge 3R Farstt § =AUR &
foreaw fopam 2

(B) 3@ v fagsft fow &1 vamwe
a1 2

(C) Fmfa # 3fg, s # 3fg @
P

(D) 3w # © 1S T

Y YR & fod § Fiqm foema & sR
T, frfafaa ot w famm fifs

1. #emd fodff ad 21 % e |@a
TR 1 TSN BT Fohed =T,
3 % 9-2 Wfawrd % ugd T
ol

2. frfim ad 22 4 g =Er %A
B Wk W] IO H 77
gfereTd & T 2

3. Tusal @ aui o UeEa WUE *E Bl
™ 2|

Suth § @ HH-1/8 FHY w8 /27
(A) Faad 1

(B) 1 3T 2

(C) 23R 3

(D) 39t § & HIE T

s [THINMTITTE i gwmwm ¢ e.r.o.



126. Which of the following were the

127.

reasons for the failure of the
Revolt of 18577

1. The military superiority of
the British

2. The rebels did not have
a unified programme and
ideology

3. There was a lack of support

from all the sections of
society

Select the correct answer using
the codes given below.

(A) Only 1 and 2
(B) Only 2 and 3
(C) All of the above

(D) None of the above

The cook from Bihar who
saved Mahatma Gandhi’s life
from a murder attempt by food
poisoning in 1917 was

(A) Muzaffar Ahmad

(B) Batak Mian

(C) Mir Bakawal

(D) None of them

19-C/FI/CC/PT-2023/201-A

128.

129.

130.

The Bakasht Movement in
Bihar during 1937-1938 was
organized by whom?

(A) Swami Dayanand Saraswati
(B) Jayaprakash Narayan

(C) Swami Sahajanand
Saraswati

(D) Peer Ali Khan

Consider the following events
during India’s Freedom
Struggle :

1. Home Rule Movement
2. Surat Split

3. Kheda Satyagraha

4. Minto-Morley Reforms

Which of the following is the
correct chronological order of
the events given above?

(A) 1-3-2-4
(B) 2-4-1-3
(C) 1-4-2-3
(D) 2-3-1-4

Lord Lytton is not associated
with which of the following?

(A) The Strachey Commission
(B) The Arms Act
(C) The Vernacular Press Act
(D) The Ilbert Bill
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126.

127.

1857 o fage il fawarar & ffafaa
4 ¥ $h9-9 R A7

1. S &= s

2. foifeat & e &g wehigha HEdsn
ug feremem & off

3. wus & aft am @ wmedw
AT o1

f= feu T g W oW W EE IW
i

(A) Fad 1 3R 2
(B) a2 3R 3
(C) e weft

(D) 39t # & 1S T

foer w1 @' w@Em, e 1917 #
et et A g & e @ fawa
F ITh Ao § e St @ IR S
=g off, e

(A) YSTHHL 3EHS
(B) wee Tt
(C) #R FehaTte

(D) 38 ¥ =Ig T

19-C/F1/CC/PT-2023/201-A

128.

129.

130.

1937-1938 & @rM, fogr # wwhrd
ele e g TS T
TIT AT?

(A) TETH T G
(B) S eI AR
(C) ™l TEsIH-=< TLEad!
(D) 9R et @™

ORd & Tadodl GUM % SRH,
fafafag seaet w fimm fifsw .

1. TW & =
2. g fawsa

3. Wl ueImE

4. fo=-mid gan

IR & T "Rl w1 FEfafad § @
-1 TEl FIATHMES FT 27

(A) 1-3-2-4

(B) 2-4-1-3

(C) 1-4-2-3

(D) 2-3-1-4

ad fae feffas & @ Feew
graf-ea T8 87

(A) T i

(B) & Afgf=m

(C) =HiFgeR 3 UFe

(D) soaié foret
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131.

132.

133.

Which treaty was signed after
the Battle of Buxar?

(A) The Treaty of Allahabad
(B) The Treaty of Sugauli
(C) The Treaty of Bassein

(D) The Treaty of Salbai

The Dutch East India Company
established its factory at Patna
in which year?

(A) 1635
(B) 1632
(C) 1643
(D) 1648

In which of the following
movements did Mahatma
Gandhi make the first use of the
hunger strike as a weapon?

(A) Non-Cooperation Movement

(B) Bardoli Satyagraha

(C) Ahmedabad Strike

(D) Rowlatt Satyagraha

19-C/F1/CC/PT-2023/201-A

134. The Quit India Movement in

135.

1942  witnessed  significant
contributions from leaders of
Bihar. Which prominent Bihar
leader was known as the ‘Bihar
Kesari’ and actively participated

in the Quit India Movement?
(A) Dr. Rajendra Prasad

(B) Shri Krishna Singh

(C) Anugrah Narayan Sinha
(D) Ram Manohar Lohia
In response to the
agitation of the Champaran
Movement, the British

Government took which step to
address the issue?

mass

(A) Appointed Mahatma Gandhi
as the
Champaran

Governor of

(B) Enforced strict curfew and
imposed Martial Law in the
region

(C) Instituted the Champaran
Agrarian Committee

(D) Declared Champaran as an
independent State
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131. SR I oeE & o fmE @ 134. ¥ 1942 § 9Rd Bl 3M=<le § foer

gEaTER foRy T % Adel H HEEU ANEH W& ATl
forer % -8 yg@ Ja1 ‘TR Fud’ &

(A) 3TETETE HiY TH Y TH I 9 R I 9RG Biel
ITeTe | |fsha ® @ W foram on?

(B) gt @

(C) ifem wfu (A) =fo ToE TEE

(D) HTeTaTE |y
(B) e fere

132. 9 3 i w3 fohm ad wer o (C) Wwf@m

AT HREHT T feram?

(A) 1635 (D) T HTEX @fEan

(B) 1632

135. IHEU 3T<idd & SF 3Teiedd
(C) 1643 yfafsen # fafewr o@rR 3 3@ g2 &

AU o foU H19-91 heH IS?
(D) 1648

(A) HETeHT Tieft I SR T TSI

‘ . [RESRER]
133. f=fafaa 4 @ fFa er<iem @ werem
et 3 @ TSA Wl ERER % w9 H
EEERERCIURCDIPIK (B) &3 H T&d & ar] fRar 3R
TTeier &l T
(A) TN 3T
(B) sREIeH HeamrE (C) =waror iy wfirfa st weramT

(C) 3TEHETETE Tard
(D) FHRU H TH T@ad T A
(D) cte TR e
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136. Match List-I with List-II : 138. Who among the following was
not the member of the Cabinet
List—I List—II Mission?
a. Servan'ts of . 1. Debendranath (A) P. Lawrence
India Society Tagore
b. Tattwabodhini 2. Gopal Krishna (B) A. V. Alexander
Sabha Gokhale
(C) J. Andrew
c. Atmiya Sabha 3. Ram Mohan
Roy (D) None of them
4. Keshab
Chandra Sen 139. “The Indian National Congress
' was founded on the basis of
Select the c.orrect answer using safety valve theory, to protect
the codes given below. the British Government from
A) a b . ‘EEZits. Which leader said
2 1 3 )
(B) a b c (A) C. Rajagopalachari
2 4 3
(B) Lala Lajpat Rai
(C) a b c
1 2 3 (C) Bipin Chandra Pal
(D) a b ¢ (D) None of them
1 4 3
) 140. In which of the following Indian
137. Ambabal, a woman ) freedom National Congress Sessions,
fighter, belonged to which of the the resolutions related to the
following States of India? Fundamental Rights were
passed for the first time?
(A) Kerala
(A) Surat Session—1907
B) Andhra Pradesh
(B) Andhra Prades (B) Gaya Session—1922
(C) Karnataka (C) Karachi Session—1931
(D) Madhya Pradesh (D) None of the above
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136. ¥HI-1 ! -1 § gafad AT

-1 gA-1I
a. Rd Yae TS 1. JeFEATd AR
b. T T 2. TITE T TREe
c. ATCHI Tl 3. W HiEA W
4. T = WA

137.

f= for T g W oW W EH W
Eid

(A) a b c
2 1 3
B) a b c
2 4 3
(C) a b c

(D)

o
o8
@]

JAATETE, Teh Tad=Idl ST, 9YRd & e
T i off?

(A) A
(B) 1Y o
(C) Al

(D) wed g

19-C/F1/CC/PT-2023/201-A

138. T ¥ &N hfeqe favm & dew A 97
(A) do ai|
(B) To dio ciasivel
(C) o Tg]
(D) T & =g T

139. ‘g drcd fHEd % SUR W WRAE
T w i T, fafew wer =
Al ¥ s=H & e off ) 3w foem
fope Ja1 & 97

(A) Hio TSATHTETET
(B) Tl AYId T
(C) faftm ==z urat

(D) 38 ¥ =Ig T

140. F=fdfad 4 4 wrdig ¥ 09 &
fra stfteee @ weefl sr Aifas
ARl ¥ gHEfad T Wi g
M I?

(A) HX@ ARERE—1907
(B) T Af@IM—1922
(C) = 3ferEsm—1931

(D) 37 | & HIE T
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141.

142.

In a certain code language,
‘GAME’ is written as ‘$+* %’
and ‘BEAD’ is written as
#% +x. How will the word
‘MADE’ be written in that code
language?

(A) $+x%
B) *+$%
(C) *+x%
(D) #+x%
144.
Q travels towards East. M

travels towards North. S and T
travel in opposite directions.
T travels towards right of Q.
Which of the following is
definitely true?

(A) M and S travel
opposite directions

in the

(B) S travels towards West

143.

145.

A man ‘Ramesh’s who owns
a plot of land of 100 square
yards, increases his plot of
land by acquiring 10% more
from his neighbour ‘Suresh’,
who also owns 100 square
yards land. After 2 years, he
sells back 10% of the total
plot to the neighbour. Which
of the following is correct?

(A) Ramesh’s land is more than
Suresh

(B) Suresh’s land is more than
Ramesh

(C) Both are equal

(D) None of the above

Find the odd pair among the
following options.

(A) Millinery : Hats
(B) Brewery : Alcohol
(C) Stationery : Paper

(D) Snobbery : Shoes

What should come in place
of question mark (?) in the
following number series?

132 156 ? 210 240 272
(A) 196
(C) T travels towards North

(B) 182
. (C) 199

(D) M and S travel in the same
direction (D) 204
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141. % Ffesa g2 9™ #, ‘GAME’ &

142.

‘$+x % fomar Smar @ 3R ‘BEAD’
H %% + x o Sar g1 36 Fe W
T ‘MADE’ 31s€ &1 @ foran smam?

(A) $+x%

(B) *+$%

(C) *+x%

(D) #+x%

Q & R I WA Bl M IR I
AR A wal 2l S IR T fauda
fewmett & wmn @ B T, Q % T AR
IEn w1 7| FEfatad @ @ wE-En
Fifsad = @ g 77

(A) M 3R S faufa feemen & amn
*d B

(B) S ufgem &1 3T AN T B

(C) T 3 & TR AT T B

(D) M 3R S ws & fem & amn
Fd 2

19-C/F1/CC/PT-2023/201-A

143. U =fe W, e 9@ 100 91 T
gt # TH wie ¥, 9@ I SR
g, ok Bt 100 = ™
g %, ¥ 10% Mok W ek Aot
I 1 e FeI T 2| 2 " 96 a8
FA e B 10% TSHT FI GHH 5
a1 3| ffafea 4 @ 9-ar =& 27
(A) T A gfr, g @ afers 2
(B) T i ufwr, e & arfern 2
(C) <M1 ReR &

(D) 3T | & HIE T

144. fTefafes fawedt & @ asie gmw
@i |
A) fafeadt . 2t
(B) el ;I
(C) T : F
(D) i : S[d

145. f=ffad e s@an ¥, vH=1-fE (?)
o T T T AT =R e

132 156 ? 210 240 272
(A) 196
(B) 182
(C) 199
(D) 204
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146.

147.

Select the missing number from
the given alternatives :

44 49 37
52 ? 41
58 35 53

(A) 56
(B) 77
(C) 66
(D) 63

Read the given statement and
conclusions carefully. Decide
which of the given conclusions
logically follow(s) from the
statement.

Statement :

In a one-day cricket match,
the total runs made by a team
were 200, of which 160 runs
were made by spinners.

Conclusions :

1. 80% of the team consisted
of spinners.

2. The opening batsmen were
spinners.

Select the correct answer.

(A) Only 1 follows the
statement

(B) Only 2 follows the
statement

(C) Both 1 and 2 follow the
statement

(D) Neither 1 nor 2 follows the
statement

19-C/F1/CC/PT-2023/201-A

148.

149.

In a code language, if GREAT
is written as 718222620 and
MONK is written as 13121411,
then how will VIGOROUS be
written in the same language?

(A) 22187121812619
(B) 21177121811619
(C) 22187131813620

(D) 21187111711620

Find the odd one in the following
groups :

Q,w,ZB B,HKM W,C,GJ M,S,V,X

150.

(A) Q,W,Z,B
(B) M,S,v,X
(C) W,C,G,J

(D) B,H,K,M

Four branches of a company are
located at M, N, O and P. M is
in the North of N at a distance
of 4 km; P is in the South of O
at a distance of 2 km; N is in
the Southeast of O by 1 km.
What is the distance between M
and P in km?

(A) 534
(B) 674
(C) 285

(D) None of the above
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146. fu U faskedt § @ @ @& I gHT 148. T% J 9w H, AT GREAT =l
718222620 3R  MONK =
13121411 fomar S g, ar &t s
T VIGOROUS #i &8 foman smum?

44 49 37
52 ? 41
58 35 53

(A) 22187121812619

(A) 56

(B) 21177121811619
(B) 77

(C) 22187131813620
(C) 66

(D) 21187111711620
(D) 63

149. f=faRad wgl # 9 aig & @iV
147. fiu U wum 3R frswd #1 eamgE®

feu) Frefafad § @ we-ay/d feg OW.2B BHKM W.C.GJ M,S,V.X
dTfeheh &9 § YA & AR g/7, =R

Fifsm) (A) Q,W,Z,B
LI (B) M,S,V,X
forelt Uenfeaeta forshe @90 ® dm 3 ©) W,C,GJ
Fd 200 W 9w, H & 160 A
el g =T | (D) B,HK.M
T
1. 39 % 80% faers fam 9| 150. TF FwA W w@l M, N, O 3R
‘ P ® f&@ 8 M, N % 3® ®
2. MUy e T 9 4 o o #1 gt W 7; P, O & wfeam
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Note : English version of the instructions is printed on the First Page of this Booklet.
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